Name: __________________________


Block: _________




The Grinch’s heart has shrunk back to its original size, and he is trying to steal Christmas again.  With his new ACME Rocket Sled borrowed from Wile E. Coyote, he plans to fly past Santa’s sleigh and snag his bag of toys that he is bringing for all of the little girls and boys of Who-ville.  He knows that Santa’s path is a straight line.  He also knows that Santa will pass through a point that is ten miles west and four miles south of Grinch Mountain.  He also knows that Santa will pass through a point that is forty-two miles south and twenty-four miles west of Grinch Mountain.  Grinch Mountain is located twenty miles north and fourteen miles east of Who-ville (which is located at the origin).  The Grinch plans to direct his rocket sled towards a point twenty-six miles west and eighteen miles south of Who-ville.  However, Little Cindy-Lou Who plans to save the day using the toy plane that Santa Claus brought her last year. She has moved twenty-two miles north and twenty miles west of Who-ville.  From that point, she is going to aim at a point thirty-six miles south and ten miles west of Who-ville.  Graph the situation on the piece of graph paper that is provided.  Label Who-ville as point W on your graph.  Label the two points that Santa Claus is known to travel through S1 and S2.  Label Grinch Mountain as point G1.  Label the other point that the Grinch will go through as point G2.    Label the two points that Little Cindy-Lou Who will travel through as L1 and L2.  Label the point of intersection between the Grinch and Santa Claus as point T, the point between the Grinch and Little Cindy-Lou Who as point R, and the point of intersection between Little Cindy-Lou Who and Santa Claus as point V.  Also, write the coordinates of each of those points next to it.  Use a scale of 1 box : 2 miles.  Using that information, answer the following questions:

1.) What is the slope of the line that the Grinch will follow?

2.) What is the slope of the line that Santa Claus will follow?

3.) What is the slope of the line that Little Cindy Lou Who will follow?

4.) What is the equation of the line that the Grinch follows?

5.) What is the equation of the line that Santa Claus follows?

6.) What is the equation of the line that Little Cindy Lou Who follows?

7.) At what point will the Grinch overtake Santa Claus and steal his toys?

8.) At what point will Little Cindy Lou Who overtake the Grinch and reclaim the toys?

9.) At what point will Little Cindy Lou Who reach Santa Claus and return his toys?

This project is worth 100 points.  Ten points for each question and ten points for your graph.  Be sure to show all your work on another sheet in a NEAT manner.  Leave all slopes, y-intercepts, and points of intersection as fractions for full credit.

